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MACROECONOMICS - CLUTCH

CH. 14 - THE FINANCIAL SYSTEM



CONCEPT: FINANCIAL SYSTEM DEFINITIONS 

 

● Households ____________ some of their money, while firms need money to ____________ in long-term assets. 

□ Financial System – the group of financial markets where firms acquire funds from savers 

□ Financial Markets – Markets for the purchase and sale of financial securities, such as ____________________ 

 

□ Investment – current resources are devoted to _____________ future output 

> The term investment is different in economics from the definition you are used to: 

 

Financial Investments are made by ___________________ 
 
 
 

 

Economic Investments are made by __________________ 

 

□ Financial Intermediaries – Firms that act as a middleman between savers and borrowers 

 > Example: Banks, mutual funds, pension funds, and insurance companies 

● The financial system accomplishes three main goals: 

□ Reducing Transaction Costs 

 > Transaction Costs – the ________________ of negotiating and executing a deal 

 > Example: Business wants to raise $1B, but no individual investor would be willing to give $1B 

□ Reducing Financial Risk 

 > Financial Risk – ________________ involving future gains or losses 

  > Example: Diversifying investments or buying insurance 

□ Providing Liquidity 

 > Liquidity – how easy it is to ______________ a financial asset to cash 

 > Example: You own 10 shares of Apple stock, but need cash; you can sell it to another investor easily! 
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CONCEPT: SAVINGS EQUAL INVESTMENT 

 

● Savings – current consumption is _____________ current output 

● Investment – current resources are devoted to _____________ future output 

□ The term investment is different in economics from the definition you are used to:  

 

Financial Investments are made by ___________________ 
 
 
 

 

Economic Investments are made by __________________ 

 

● Time to do some algebra! Recall that we used the ________________ approach to calculate GDP (Y) 

 > The total __________________ must equal the total _________________ for an economy 

 

𝑌 = ______________________________ 
 
An open economy trades with other countries, leading to the net exports (NX) variable. 

A closed economy _____________ trade with other countries, thus net exports (NX) would be equal to ___________. 
 

𝑌 = ______________________________ 
 
In a closed economy, all output sold is either ______________, _______________ or ______________ by government. 

We can rewrite the equation to solve for Investment (I). 
 

______________________________ = 𝐼𝑛𝑣𝑒𝑠𝑡𝑚𝑒𝑛𝑡 (𝐼) 
 
National Savings – the total income remaining after paying for consumption and government purchases 
 

𝑁𝑎𝑡𝑖𝑜𝑛𝑎𝑙 𝑆𝑎𝑣𝑖𝑛𝑔𝑠 (𝑆) = ______________________________ 
 

𝑁𝑎𝑡𝑖𝑜𝑛𝑎𝑙 𝑆𝑎𝑣𝑖𝑛𝑔𝑠 (𝑆) = ______________________________ 
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● National Savings can be broken up into: private savings and public savings 

□ Private Savings – The amount of income that households have left after paying for consumption and ________ 

□ Public Savings – The amount of ________ revenue the government has left after paying for its spending 

 
𝑁𝑎𝑡𝑖𝑜𝑛𝑎𝑙 𝑆𝑎𝑣𝑖𝑛𝑔𝑠 (𝑆) = _____________________________ 

 
If we add the effect of taxes: 
 

𝑁𝑎𝑡𝑖𝑜𝑛𝑎𝑙 𝑆𝑎𝑣𝑖𝑛𝑔𝑠 (𝑆) = (_____________________) + (_____________________) 
 

𝑁𝑎𝑡𝑖𝑜𝑛𝑎𝑙 𝑆𝑎𝑣𝑖𝑛𝑔𝑠 (𝑆) = 𝑃𝑟𝑖𝑣𝑎𝑡𝑒 𝑆𝑎𝑣𝑖𝑛𝑔𝑠 + 𝑃𝑢𝑏𝑙𝑖𝑐 𝑆𝑎𝑣𝑖𝑛𝑔𝑠 

 

 
□ Budget Surplus – When the government’s tax revenue ______________ its spending  

□ Budget Deficit – When the government’s tax revenue ______________ its spending  

 

● In an open economy, the effect of international trade must be included in the Savings = Investment identity: 

□ Money borrowed is repaid with ______________ 

 > Net Capital Inflow – Investment spending financed by funds borrowed from foreigners 

 > Investment spending financed by foreign money comes at a national cost 

 

 

𝑁𝑒𝑡 𝐶𝑎𝑝𝑖𝑡𝑎𝑙 𝐼𝑛𝑓𝑙𝑜𝑤 (𝑁𝐶𝐼) = ____________________________________ 
 
In an open economy: 
 

𝐼𝑛𝑣𝑒𝑠𝑡𝑚𝑒𝑛𝑡 𝑖𝑛 𝑎𝑛 𝑂𝑝𝑒𝑛 𝐸𝑐𝑜𝑛𝑜𝑚𝑦 = 𝑁𝑎𝑡𝑖𝑜𝑛𝑎𝑙 𝑆𝑎𝑣𝑖𝑛𝑔𝑠 +  ______________ 
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CONCEPT: THE MARKET FOR LOANABLE FUNDS 

 

● We can simplify the financial system to one market called the market for loanable funds 

□ Loanable Funds – income that households have chosen to save rather than spend on consumption 

□ Just like any market, there are suppliers and demanders: 

 > Supply   _____________________ 

 > Demand  _____________________ 

 > “Price”  _____________________ 

Market for Loanable Funds 

 

 

□ Firms compare the rate of return of new projects with the available interest rate on the market 

 > Firms will fund projects that have a rate of return higher than the equilibrium interest rate 

 > At lower interest rates, the demand for funds naturally increases (more projects are worth funding) 

□ Households will save based on the “reward” they can receive for lowering their consumption today 

 > At lower interest rates, the supply of funds naturally decreases (less “rewarding” to save) 

□ Recall the difference between nominal interest and real interest: 

 > Nominal Interest Rate – The stated rate of interest on a loan 

> Real Interest Rate – The nominal interest rate ____________________________ 

> Since both savers and investors are concerned with inflation, the equilibrium rate is the ______________ 
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CONCEPT: SHIFTS IN THE MARKET FOR LOANABLE FUNDS 

 

● The demand for loanable funds is dependent on the borrowing needs of firms and government. Shifts in demand occur: 

□ Firms: Changes in __________________ of future profits 

 > Example: An increase in available technology increases business opportunities 

 

     

 

 

 

□ Firms: Changes in corporate tax rates 
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□ Government: Changes in government’s need for funds 

  

     

 

 

 

 

 

PRACTICE: The scientists at University of Coloralabaska have discovered an insanely efficient teleportation device useful 

that revolutionized the shipping and delivery industry. How would this invention affect the market for loanable funds? 

a) Demand for loanable funds would increase, leading to a higher equilibrium interest rate 

b) Demand for loanable funds would increase, leading to a lower equilibrium interest rate 

c) Demand for loanable funds would decrease, leading to a higher equilibrium interest rate 

d) Demand for loanable funds would decrease, leading to a lower equilibrium interest rate 
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● The supply of loanable funds is dependent on the ability to save of households and government. Shifts in supply occur: 

□ Households: Changes in savings incentives 

 > Example: tax benefits from 401(k) retirement accounts increase the incentive to save 

  

     

 

 

□ Government: Changes in the government’s budget deficit or surplus 

> Budget Surplus – When the government’s tax revenue ______________ its spending  

> Budget Deficit – When the government’s tax revenue ______________ its spending  

 > Public Savings – The amount of tax revenue the government has left after paying for its spending 

 > If the government is running a budget deficit, it is not contributing to national savings 

  - Savings are the supply of loanable funds 
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CONCEPT: STOCKS, BONDS, AND MUTUAL FUNDS 

 

● Bonds are financial securities that promise to repay a fixed amount of principal, generally along with _____________ 

□ Coupon Payment – an interest payment on a bond at the bond’s stated interest rate 

□ Interest – the cost of borrowing funds, usually stated as a percentage of the amount borrowed 

 > The interest rate that must be paid is aligned with the amount of _________ involved in lending 

 > Rating agencies, such as Moody’s and S&P, will rate company bonds for credit quality 

 

 
● Stocks are financial securities that represent partial ___________________ of a firm 

□ Shareholders are entitled to their portion of a corporation’s profits 

 > The corporation doesn’t pay out all profits, it keeps some as retained earnings to fund future projects 

 > Dividends – Payments by a corporation to its shareholders 

 > Capital Gains – increases in the market value of the stock over the purchase price 

□ Stocks do not have a maturity date because a corporation is assumed to continue indefinitely 

● Mutual Funds – an institution that sells shares to the public, using the money raised to crease a portfolio 

□ Shareholders purchase shares of the mutual fund, not of the stocks in the portfolio 

 > Actively-managed mutual funds have portfolio managers constantly buying and selling stocks 

 > Passively-managed mutual funds follow a specific stock index and hold more constant portfolios 

□ Diversification – reducing risk by replacing a single large risk, with smaller, unrelated risks 

 > “Don’t place all your eggs in one basket” 
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